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Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. Match the following items of column A with items of column B:

Column A Column B
I. Carbon 1. In Making Electric Wire
II. Copper 2. As afuel
II1. Iron 3. In Wrapping Food items
IV. Aluminium 4. For Machinery

(@) 1-2,11-1,11-4,IV-3  (b)I-3,11-1,11-2,IV-4
() 1-1,11-2,111-3,IV-4  (d)1-4,11-3,11-1,IV-2

q. iad A Frfaf@a 7t # siaq B #7&l & gafaa HfFw:
HleTH T HleTd o

. FIE 1. Qe & aR 9= &

. orer 2. 4T & TT H

. oNgr 3. @ &1 ST Y dued H
v Tegfafaas 4. ATl & forw

(@) 1-2,11-1,11-4,1V-3 (f)I1-3,1-1,11-2,IV-4
@1-1,10-2,11-3,1IVv-4 (ENI1-4,11-3,11-1,IV-2
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Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. What is the relative molecular mass of water?
(a) 8u

(b) 9 u

(c)16u

(d) 18 u

9. il T ATAf8S AT0TfAs gcIATT AT 82
(W) 8
@97

o

() 16 I

o

@) 18 g
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Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. What is the pH value of human blood?
(a) 8.3

(b) 6.8

(c) 7.4

(d)6

9. ATAG (&Fd FT pH AT fhaar axar €2
(¥) 8.3

(@) 6.8

() 7.4

@) 6
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Q. What is the other name of sodium carbonate?
(a) Baking soda

(b) Washing soda

(c) Baking powder

(d) No

9. QST FEfAeT FT @ A FT 8§ ?
() IfFer A=t

() e FT WS

() IfFTr TP

() e

Adda

e




Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. What is the other name of sodium carbonate?
(a) Baking soda

(b) Washing soda

(c) Baking powder

(d) No

¥. W3 el FT @ A7 F41 8 ?
() IfFer A=t

() e FT WS

() IfFTr TP

() e

Adda

e




Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. Match the following items of column (A) with column (B).

Column A Column B
I. Vinegar 1. Tartaric acid
II. Orange 2. Lactic acid
III. Tamarind 3. Aceticacid
IV. Sour milk 4. Citric acid

(@) 1-3,11-4,11-1,IV-2  (b)I-4,11-3,I1-1,IV-2
() 1-3,11-4,11-2,IV-1  (d)I-3,11-2,11-1,IV-4

¥. &lad (v) Fr fArafaf@a #ct #r Fieaw (@) @ gafaa Hifaw
HIAH T HIAH &

. AT 1. e+ vfas
. HeT 2. dfFes 3+
. Sl 3. tfafes 3
IV. @eeT 4. grsfesw tfas

(@) 1-3,11-4,111-1,IV-2  (@)I-4,11-3,11-1,IV-2
@1-3,10-411-2,1Vv-1 @E)I1-3,11-2,11-1,IV-4
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Q. Which of the following is NOT a nucleon?
(a) Proton

(b) Electron

(c) Neutron

(d) No option is correct.

g. fArrfaf@a & @ sl a1 F FFearaT a€d 82
(T) A

(@) saaerT

(¥ft) sgereT

(31 F$ RFew T 7t 2
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Q. Baking soda is used

I. for making baking powder

II. in soda-acid fire extinguishers

I11. to neutralize excess acid in the stomach

(a) Only I and II (b) Only I and III

(c) Only II and III (d) All I, IT and III

. afher |ST ST AT T simar g1
. AfFr UIEET T & AT

. |e-ufds rfoeemsrs I=t &

. 9 & FfalRea s # PEw & & v
(T) &aa | 3R 1 () SFaer 1 3T m

(&) saer 1 3R i @) gl L, n3R
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Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. What is the weight of one mole Carbon atoms?
(a) 12 gm

(b) 120 gm

(c) 1.2 gm

(d) 0.12 gm

Y. Th Al Hleel GAT] FT AR fFaam giar 82
(W) 12 I&H

(@) 120 I

() 1.2 IH

@) 0.12 I
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Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. In which of the following solution the concentration of H+ ion is the
maximum?

(a) pH6

(b) pH8

(c)pHS5

(d)pHO9

q. Arfaf@a & O 9 O A H+ 3maaT T gigar A¥saq 22
(v) die=r 6
(&) drv=r 8
(#Y) dreg 5
@) doT 9
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Q. Who formulated ‘the atomic theory’ of a matter?
(a) Avogadro

(b) Dalton

(c) Newton

(d) Pascal

v. fFdl gerd &1 'gwAy Ryt fFee gfaurfed fFar?
(T) 3raremgr
(&) sTeesT
(H) e
(3) IR
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Q. Which of the following type of medicine is used for treating indigestion?
(a) Antibiotic

(b) Analgesic

(c) Antacid

(d) Antiseptic

Y. 399 & ST & a0 A% § & g yR T gar &1 399er FAr Sar 82
(v) Tdaraifes

CURGIGEIRED

(&) verfas

(3) wdraftes
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Q. Which of the following is an example of thermoplastics?
(a) Bakelite

(b) Melamine

(c) PVC

(d) No option is correct.

q. Arafe@a & O sla-ar gafcafEes F1 38T 82
(T) derse

COUKCIGIEC]

GURLEIE:

@) FF RAFeT TE Tt T
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Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. Which among the following has highest electron affinity?
(a) Chlorine

(b) Fluorine

(c) Helium

(d) Xenon

. Aefaf@a & @ Fu ssaaw gAecla aEydar 872
(T) FeeT
(&) FAT
(&) aifeTs
(31) FHITeT

Adda
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Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. Which of the following causes acid rain?
I. SO,

II. NO,
I11. CO,
(a) Only I and II (b) Only II and II1
(c) Only I and III (d) All L, IT and III

y. Aafaf@a § & fFasd FROT 3T aut g 87
. SO,

II. NO,

I11. CO,

(T) Only I and II (&) Only II and III

(F1) Only I and III (31 All L, Il and III
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Q. What is the ratio of masses of hydrogen and oxygen in the water?
(a)1:4

(b)1:8

(c)1:16

(d)1:64

¥. Uil 7 gEEe 3R ATdISe F geqAT FT I[ATT FIAT 87
(@) 1: 4
(@) 1: 8
(&) 1: 16
@) 1: 64
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Science | | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda

Q. Match the items of column (A) with column (B).
Column A Column B

I. Hydrogen sulphide 1. Ca(OH),
II. Sodium nitrate 2. H,S
III. Calcium oxide 3. NaNO;
IV. Calcium hydroxide 4. Ca0
() 1-2,I1-3,1l1-4,IV-1 (b)1-2,11-2,1II-1,IV-4
(c) 1I-3,II-2,1I1-1,IV-4 (d)I1-2,I1-1,1II-3,IV-4

¥. FIaA (T) i #7&l A Fler () F 71w gafaa w1
HIAH T HIAH

. gIg3lold HehISs 1. Ca(OH),

I WA 2. H,S

. FHfewrasw rFarss 3. NaNO,

IV. $fergd gBseass 4. Ca0

(@ 1-2,11-3,l-4,1IV-1 (@)I1-2,11-2,111-1,IV-4

@#E1-3,11-2,1M-1,1v-4 @)I-2,11-1,111-3,IV-4
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Q. Which of the following statement(s) is/are CORRECT?
I. Bases are soapy to touch.

I1. Bases generate OH- ions.

I11. Metal oxides dissolve in water to form Acidic solution.
(a) Only I and II (b) Only I and III

(c) Only II and III (d) All I, IT and III

y. efaf@a & @ sl9 ava sy 9 887

. &R @t # WG ST g ol

Il. 8TR OH- 3TIT 3c9eel FIT &1

. IFNT Ol a1 F fAw a1 F 3ifearss 9=l F g Fa
(T) Faer | 3T 1 (&) Saer 1 3R

(&) saer 1 3R i @) gl L, n3R
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Q. Generally atomic radius is measured in which unit?
(a) Fermi

(b) Millimeter

(c) Angstrom

(d) Micrometer

¥. 3H dR W WA B fFa g & AT S 82
(T) wat

() FAeisex

(¥ TareetA

(3)) ATSHIHAIT

Adda

e
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Science | | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda

Q. Which of the statement(s) about the reaction given below is/are INCORRECT?
2Pb0(s) + C(s) — 2Pb(s) + CO,(g)

I. Lead is getting reduced.

II. Carbon is getting reduced.

III. Lead oxide is getting reduced.

(a) Only I and II (b) Only I and III

(c) Only II and III (d) All L, IT and III

¥. d1T & 1S 9fAfhar & TR & ST 91 Fua T19q 8872
2PbO0O(s) + C(s) — 2Pb(s) + CO,(g)

. T w8 T@T 2

Il. ST & 8 T@T ¢l

. S TFASS HA & &7 2

(T) &aa | 31T 1 (@) daer 13T

(&) Faer 13 m @ g, ustk w

e
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Q. What is the mass number of Deuterium?
()1
(b) 2

(c)3
(d) 4

¥. SIRIHA #r geaAeT wE&ar fFaer gidr 87
(T) 1
(@) 2
(Hn) 3
(31 4

Adda

e
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Q. Ethanol reacts with sodium leading to the evolution of which gas?
(a) Nitrogen

(b) Hydrogen

(c) Oxygen

(d) Methane

¥. sddTer A3 & Ty yfafhar #ar § 9 Fa 39 1 [ gar 82
(V) AZEIST=T

(1) g3

GUIKIERIED]

(?T)Tﬁﬁﬁ'
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Q. Match the following items of column (A) to items of column (B)
Column A Column B

I. Polyester 1. Fabrics do not wrinkle easily
II. Teflon 2. Used for making parachutes
III. Rayon 3. Prepared by using wood pulp

IV. Nylon 4. For non-stick coating on cook
() I1-2,11-3,1lI-1,IV-4 (b)1-3,11-1,1I1-4,IV-2
(c) 1-2,11-4,1I1-1,IV-3 (dI-1,11-4,1I1-3,IV-2

v. W(U)ﬁﬁmﬁﬁamﬁww)aﬁrm#mﬁm
HIAH T HIAH

. YIfauEel 1. HYST 9T T @ fAHaT &1 94T

. SFleT 2. Rree 9 F ygEFd FaT §

. [T 3mﬁmmmmm%mw
IV. ATl 4wwmmaﬂﬁw$m

(@ 1-2,11-3,-1,IV-4 (M) 1-3,11-1,11-4,1V-2
@1-2,10-411-1,1Vv-3 @EDI-1,11-4,11-3,IV-2

Adda
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Q. Which of the following fuel has maximum calorific value?
(a) Petrol

(b) Coal

(c) Wood

(d) Cow dung
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Q. If an atom has atomic number 10 and mass number 23, then what will be the
number of protons and neutrons in an atom respectively?

(a) 10,10

(b) 10, 23

(c) 13,10

(d) 10,13
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() 10, 23
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Q. While cooking, if the bottom of the vessel is getting blackened on the outside,
it means that

(a) the food is not cooked completely

(b) the fuel is not burning completely

(c) the fuel is wet

(d) the fuel is burning completely

Y. T 96 GAT IR ST T ad ael @ FaT Y W& Y sHFr 3T & &

|
(T) G O T8 & 18t JaT 8
() $ueT T R @ «1eh o1ef T@T &
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Q. Atomic number is always equal to
(a) Number of protons

(b) Number of neutrons

(c) Number of electrons

(d) Sum of protons and neutrons
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Q. Which of the following statement(s) is/are INCORRECT?
I. Alkenes are fairly unreactive.

II. Alkenes burn with blue flame.

II1. Alkanes burn with yellow flame.

(a) Only I and II (b) Only I and II

(c) Only II and III (d) All I, IT and III

v, AfRf@a & O ST a7/ Fy9 199 /872
. UedhreT FTHY fFamfe &

II. Yo el SaTeT d STl &l

. Ychat el FaraT ¥ JTaa T

(T) &aa | 3R 1 () SFaer 1 3T 1
(&) Faar n 3 @) st 1, n 3T N

Adda

e




Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. Which of the following statement(s) is/are INCORRECT?
I. Alkenes are fairly unreactive.

II. Alkenes burn with blue flame.

II1. Alkanes burn with yellow flame.

(a) Only I and II (b) Only I and II

(c) Only II and III (d) All I, IT and III

v, AfRf@a & O ST a7/ Fy9 199 /872
. UedhreT FTHY fFamfe &

II. Yo el SaTeT d STl &l

. Ychat el FaraT ¥ JTaa T

(T) &aa | 3R 1 () SFaer 1 3T 1
(&) Faar n 3 @) st 1, n 3T N

Adda

e




Science | | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda

Q. Valency of an element depends on which of the following?
I. Number of losing electron

II. Number of gaining electron

III. Number of sharing electron

(a) Only I and II (b) Only I and III

(c) Only II and III (d) All I, IT and III
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Q. Which of the following statement(s) is/are CORRECT?

I. Oils containing unsaturated fatty acids should be used for cooking.
II. Animal fats have saturated carbon chains.

I11. Saturated fatty acids are generally harmful for health.

(a) Only I and II (b) Only I and III

(c) Only II and III (d) All I, IT and III

q. Aef@d & @ id a/d 3 98 /282
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Q. What charge is present on a neutron?
(a) Positive

(b) Negative

(c) No charge

(d) No option is correct.

Y. Sl G FieT | ITAA 3YRPYA 8T 872
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Q. Which of the following statements are CORRECT?
I. Esters are sweet smelling substance.

II. Esters are used in making perfumes.

[11. Functional group of ester is R-O-R

(a) Only I and II (b) Only I and III

(c) Only II and III (d) All I, IT and III
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Q. What is the valency of magnesium?
(a)1
(b) 2

(c)3
(d) 4
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Q. What is the general formula of alkenes?
(a) CnH2N

(b) CnH2n+2

(c) CnH2n-2

(d) CnH2n-1

Y. Ueehlel &1 WA HA FAT T 87
(¥) CnH2N

(1) CnH2n+2

(H1) CnH2n-2

(31) CnH2n-1
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Q. Isotopes have
I. similar physical quantities and different chemical properties
II. different physical properties

II1. similar chemical properties

(a) Only I and II (b) Only I and III

(c) Only II and III (d) All I, IT and III

v. gATYAfAS & gar gl
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1. fafder sifas aor
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Q. Which substance is produced when alcohol is added with petrol and used as a
fuel?

(a) Only oxygen

(b) Only carbon-dioxide

(c) Only water

(d) Carbon-dioxide and water both

Y. ehigd $I YOI & 1T AR $UT & T H 3TANT FIA W HieT A7 g
3ol BT 87

(T) shad Tt

() FadT FEA-3EHTFASS

(HY) shaer gl

(@) FET sE3TFAES AR g QEt



Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount Adda 247

Q. Which substance is produced when alcohol is added with petrol and used as a
fuel?

(a) Only oxygen

(b) Only carbon-dioxide

(c) Only water

(d) Carbon-dioxide and water both

Y. ehigd $I YOI & 1T AR $UT & T H 3TANT FIA W HieT A7 g
3ol BT 87

(T) shad Tt

() FadT FEA-3EHTFASS

(HY) shaer gl

(@) FET sE3TFAES AR g QEt



Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. An atom can achieve octet by

I. Sharing electron
II. Gaining electron
I11. Losing electron

(a) Only I and II (b) Only I and III

(c) Only II and III (d) All I, IT and III
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Q. Saturated carbon compounds can form which types of chain structures?
I. Straight chain

II. Branched chain

(a) Only I (b) Only II

(c) Neither I nor Il (d) Both I and II

Y. Hod Fled AF fFH YhR $ H@eT AT g1 Thd 87
. et s

Il. Branched’&ci'?il?’lT
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Q. Saturated carbon compounds can form which types of chain structures?
I. Straight chain

II. Branched chain
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Q. What is the position of metallic ion and non-metallic ion in a chemical
formula?

(a) Metal ion at second position

(b) Non-metal ion at first position

(c) Metal ion at first and non-metal ion at second position

(d) No option is correct.

¥. IEfas g7 7 aifcas e AR srenfoas araer f Rufa Fam gt 872
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Q. Lime water becomes white due to which gas?
(a) CO,

(b) O

(c) NO;

(d) N,
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(#) No,
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Q. Elements having same atomic numbers but different mass number are called

(a) Isotones
(b) Isotopes
(c) Isotopes
(d) Isobar

q. fOd dcal Y GHANT HE&AT AT ofehd gcTATT &A1 et @l & 3¢

FeT Sar ¥
(T) rsHR
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(&) s
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Q. Washing soda is used
I. for removing permanent hardness of water
1. for disinfecting drinking water

I11. as a cleaning agent for domestic purpose

(a) Only I and II (b) Only I and III

(c) Only II and III (d) All I, IT and III
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Que: In the Winter season water comes out of hand pumps is hot because

A. In winter, our body temperature remains low, so water makes us feel hot.

=

Inside the earth’s temperature is more than the atmospheric temperature

C. Due to pumping function is produced which causes heat and makes the
water hot

D. Water comes out from the Earth and gains the heat from the surroundings
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